
Edit(i,j) = Edit(i-1,j-1)
Edit(2,2) = 

Edit(i,j) = Edit(i-1,j-1) + 1
Edit(4,3) = 

Edit(i,j) = Edit(i-1,j) + 1
Edit(6,3)=

Edit(i,j) = Edit(i,j-1) + 1
Edit(3,5)=



1. Find h s.t. ALGO is changed to ALT[1 ... h] in the opt.
    edit sequence from ALGORITHM -> ALTRISTIC

2. Find one optimal sequence for ALGO -> ALT[1 ... h]: S1

3. Find one optimal sequence (reuse space) for
    RITHM -> ALT[h+1 ... 10]

4. return  

S1

S2



i < m/2

Edit_X,Y(6,3) = Edit_X,Y(5,2) + 1
=>

Edit_X,Y(6,3) = Edit_X,Y(5,3)+1
=>

Edit_X,Y(9,10) = ?



Construct optimal edit sequence using


